
19ProTeam

107132  ProBlitz  $295
107596  ProBlitz XP   $349

ProBlitz XP now features daisy chain receptacles where user can 

connect 2 additional air movers for large area drying. Maximum 

airflow and low amp draw combine to make the ProBlitz AirMover 

the first choice for Carpet Cleaners and Restoration Contractors 

alike. With 3 fan speeds and 3 operating positions, the ProBlitz 

AirMover tackles every air circulation requirement with ease.

ProTeam ProBlitz®

3 years parts, labor and motor

Limited lifetime on molded housing

Specifications
Motor: .4 HP/360 Watt/Capacitor

Amperage:  Low   2.4 A

 Medium  2.7 A

 High   3.0 A

Motor Airflow: 2200 CFM (max)

Weight: 28 lbs./12.7 kg

Decibel: Low   63 dBA

 Medium  65 dBA

 High   66 dBA

Housing: 2-Piece High-Impact Polypropylene w/Built-in  

 Cord Wrap

Storage: Vertically stackable and top-mounted carry handle

Blower Wheel: High-Impact Polypropylene

Drying Positions: Three - 0°, 45°/60° (XP model only), 90°

Transportation: Telescoping handle and wheels (XP model only)

Power Cord: ProBlitz - 30'

 ProBlitz XP - 25'

Circuit Breaker: 8 amp max (XP model only)

Warranty

*ProBlitz XP AirMover shown.

Specification calculations are based on average motor performance.

RELATED PRODUCTS
107300 Carpet Clamp Kit $55.39



51ProTeam

PROGUARD 16 MD PARTS 
		  No.	 Product Name	 Qty	 List Price
1		 830565-2	 Handle Motor Cover	 1 ea.	 $ 2.45
2		 831577	 Swivel Hose Cuff	 1 ea.	 3.87
3		 831337-6	 Hose Assembly w/ Cuffs	 1 ea.	 43.24
4		 829900	 Locking Ring Cuff	 1 ea.	 1.62
5		 820563-4	 Screw Type AB #10 x ¾"	 1 ea.	 .11
6		 510127	 Switch Assembly 	 1 ea.	 6.73
7		 833600	 Diffuser Assembly 	 1 ea.	 5.78
8		 510286	 Motor Cover Assembly	 1 ea.	 37.52
9		 826387	 Drum Latch	 1 ea.	 7.31
10	 831651	 Duct Motor Exhaust/Cooling Fan	 1 ea.	 6.40
11	 827415	 Gasket Motor	 1 ea.	 10.60
12	 831567	 Motor Assembly Complete	 1 ea.	 88.20
13	 831657-1	 Power Cord Assembly	 1 ea.	 61.56
14	 822374-8	 Carbon Brush Set	 1 set	 13.36
15	 830609	 Exhaust Foam Pad	 1 ea.	 2.12
16	 831653-1	 Lid	 1 ea.	 19.77
17	 826453-2	 Screw 10-32 x ¾"	 1 ea.	 .90
18	 831659	 Collector Assembly	 1 ea.	 9.74
19	 833778	 Ball Float	 1 ea.	 2.97
20	 830101-1	 Filter Cage	 1 ea.	 2.89
21	 107177	 Quick Lock Wet Filter	 1 ea.	 26.66
22	 107175	 Qwik Lock Fine Dust Cartridge Filter	 1 ea.	 26.66
23   831668-1	 Tote	 1 ea.	 16.64
24	 830686	 Handle	 1 ea.	 20.67
25   831660-2	 Dust Drum Assembly	 1 ea.	 46.91
26   73185	 Drain Cap	 1 ea.	 7.69
27   830611	 Wheel Cap	 1 ea.	 1.40
28   813836-1	 Cap Nut 1/2"	 1 ea.	 1.11
29   832190	 8" Wheel Assembly (Includes: #27, 28)	 1 ea.	 14.42
30   831024	 Shaft	 1 ea.	 10.23
31   830577	 Caddy, Left	 1 ea.	 15.05
32   832123	 Caster	 1 ea.	 13.25
33   820563-5	 Screw Type "AB" #10 x 1-3/4"	 1 ea.	 1.10
34   830576	 Caddy, Right	 1 ea.	 12.88
		  509944	 Bag of Loose Parts (Not Shown) 	 1 kit	 21.09
			   (includes: #27, 28, 32, 33)	     

1

2

 3  4

 6

 7

 5 8

 5

18

 6

10

11

12

11

17

19

20

23

21

13

14

9

5

15

16

24

2526

28
30

29

27

31

32 33

34

22

	 No.	 Product Name	 Qty	 List Price
1	 510141	 Switch & Knob Assembly	 1 ea.	 $  9.38
2	 833658	 Inlet Grill	 1 ea.	 7.00
	 510551	 Inlet Grill with Outlets (ProBlitz XP only)	 1 ea.	 14.00
3	 820563-7	 Screw, Type AB #10 x ¾"	 1 ea.	 .05
4	 833673	 Threaded Inserts - Housing	 1 ea.	 7.47
5	 820563-7	 Screw, Type AB #10 x ¾"	 1 ea.	 .05
6	 820563-13	 Screw, Type AB #10 x 1"	 1 ea.	 .05
7	 510140	 Wheel Assembly (ProBlitz XP only)	 1 ea.	 11.45
8	 820563-7	 Screw, Type AB #10 x ¾" (ProBlitz XP only)	 1 ea.	 .05
9	 833690	 Foot Bumper	 1 ea.	 8.43
		  (Only four (4) required for ProBlitz XP)
10	 820563-7	 Screw, Type AB #10 x ¾"	 1 ea.	 .05
		  (Only four (4) required for ProBlitz XP)
11	 833659	 Exhaust Grill	 1 ea.	 5.88
12	 833674	 Motor	 1 ea.	 119.14
13	 833675	 30' Cord w/Plug	 1 ea.	 27.88
	 841368	 25' Cord w/Plug (ProBlitz XP only)	 1 ea.	 43.46
14	 833660	 Blower Wheel	 1 ea.	 32.44
15	 833691	 Retractable Handle (ProBlitz XP only)	 1 ea.	 31.43
16	 820563-7	 Screw, Type AB #10 x ¾" (ProBlitz XP only)	 1 ea.	 .05
17	 833657-1	 Housing (left side)	 1 ea.	 23.38
18	 833656-1	 Housing (right side)	 1 ea.	 33.25

PROBLITZ AIRMOVER PARTS 

lacyschmidt
Rectangle

lacyschmidt
Line




